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GCSE (1 - 9)

- Estimation

Instructions

* Use black ink or ball-point pen.

» Answer all Questions.

* Answer the Questions in the spaces provided

— there may be more space than you need. |

* Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice
* Read each Question carefully before you start to answer it.
* Keep an eye on the time.

* Try to answer every Question.
* Check your answers if you have time at the end
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1  Work out an estimate for the value of f4_8_71_;<_36_2
O x 60 30 0 O
5 - 3 = 00
Soo
(Total for Question 1 is 3 marks)
2 Work out an estimate for the value of 41.2 X19.8
0.49
L"OKQ—O = NXOO = | § © @
0.5 0.5
............ /600 ...
(Total for Question 2 is 3 marks)
3 Work out an estimate for the value of M_Sx_gzlﬁ
X 20
Jo X 2% = £2° - oo
e §
................ (.0
(Total for Question 3 is 3 marks)
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4  Work out an estimate for the value of /-4 * 23.05

0.196
723 - 30 = 1560
o -2 o .2
[GR/ 7+ 20 - 27 /135 j ............... ,50 ..................
0.2 6.2 (Total for Question 4 is 3 marks)
5  Work out an estimate for the value of w
2.31
ox 5 _ 450
Tox 5 - 225
2 2

(Total for Question 5 is 3 marks)

6  Work out an estimate for the value of 18.3 +62.8
0.13

20 + €0 _ )
¥ O o

B!

o . o-/

(Total for Question 6 is 3 marks)
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7  Work out an estimate for the value of ALS—ET— 98.1
o Z c +/0 _ So _ ,
20 4+ j1ec _ T 7 = T~ - /506
-~
o % o 2
0.2
........... /2.8
(Total for Question 7 is 3 marks)
8  Work out an estimate for the value of %8—7
X 20 /60  _
LT T
0.5 0.5
............ SZL
(Total for Question 8 is 3 marks)
. 431.1
9 Eddie and Ellen use a calculator to work out ———
14.3 + 3.8
Eddie’s answer is 1.5 —
Ellen’s answer is 15 _ } (o0
Z//0 O o R . A
One of those answers is correct. 7 /o + ¢
_ |4 + Z/-
Use approximations to find out which answer is correct.
oo  _ Yoz
Jy+1% 3
. ! , = /3.3
/_{ //é/"L 3 arn. swr i§  Covrect. - '
(Total for Question 9 is 3 marks)

N | | _/



. y R

10 Ciara drives an average of 43.6 miles per week - 5] weelks in

(a) Work out an estimate for the number of miles Ciara drives in a year. =~ °* e

LfOX50 o 200 O

2)
(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.
.............. underesbmalt..... .| rownded. . deovon.. ue...oalen..
N 2 ANV & B 0 Y B e A et
(D

(Total forQuestionlO is 3 marks)

11 Dennis gets paid £8.21 per hour he works.
Each week Dennis works 41 hours.

78]

(a) Work out an estimate for the amount Dennis gets paid in a week.

X X 40 = 320

.................................

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer. ,

(1)
~ (Total for Question 11 is 3 marks)
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12 Mr Sykes wants to buy a calculator for every student in year 11.
There are 104 students in year 11. 100
Each calculator costs £6.05

| 6

(a) Work out an estimate for the amount of money Mr Sykes will spend on calculators.

] o O x €

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

...................................................................................................................................................................

.............................................................................................................

(Total for Question 12 is 3 marks)

13 Phoebe's pays 2.8 pence per minute to use her phone.
On average Phoebe uses her phone for 77 minutes per day.

()
She pays he phone bill for 29 days.

30

(a) Work out an estimate for how much Phoebe pays.
2 x 8o x 3°©

o Xx A0
7200 p

(b) Is your answer to part (a) an underestimate or an overestimate? 3)
Give a reason for your answer.

..........................................................................................................................................................

(Total for Question 13 is 4 marks)
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6 A circle has a radius of 11 metres.
(a) Work out an estimate for the area of the circle. ‘ '

Hrea =97 r

2
- 3 X |0
= 3 x /o©
= S00
3 0o .

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

(Total for Question 14 is 4 marks)

15 A shape is formed by cutting a square out of a rectangle.

323m

5.12m

(a) Work out an estimate for the area of the shape.
g = 18 A
5Y S Shepe - N
S el  sSlope 2ok 2 T &4 m

i\

5 — 4

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

...............................................................................................

(Total for Question 15is 4 marl?




16 A baby was born every 43 seconds in the UK in 2018

% Work out an estimate for the total number of babies born in the UK in 2018.
You must show how you get your answer.

Number of $€Cove it o geos

% 0

NWW 0)/ W&'Vlé/\f ;7 a (j‘ew - 60 x o x 7/(74 )/3(5

/A\:éo X< E 0 x 2.0 X oo
36 oo X Y oo o

xtf‘ooo X %o o o

22 ocoo o a

32 coo oo
G &

g@a o o0 O

- —

(Total for Question 16 is 4 marks)
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